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4 0100 0.7 (0650 «1,0 0100 1,1 0700 =1.0 0055 1.4 | 0710 -1.0
1330 1.8 |2005 =0.8 1330 1.7 | 1945 =-0,8 1320 1.4 | 1925 =0.9
5 0145 0,8 (0735 =1,0 D140 1,2 | D745 =0.9 0135 1.5 | 0750 =049
1410 1,7 {2040 =0,8 140% 1,5 | 2020 =0D.8 1355 1.2 | 1955 =0.8
] 0225 0.8 (0820 -0,9 0220 1,2 | 0830 =0.8 0215 1,5 {0835 =0.8
1450 1.5 (2120 =0.8 1445 1.3 | 2055 =047 1435 1.0 12030 =D.8
? 0310 0.9 |0910 -0,8 0305 1,2 | 0915 ~0.7 0300 1.4 | 0925 =06
1535 1,3 (2200 =-0,7 1525 1,1 | 2135 =D.7 1515 0.8 | 29110 =0.7
8 0405 0.9 [1005 =0.6 0355 1,2 [1010 =-0.5 0350 1.4 | 1025 =045
1620 1.1 [2245 =0,7 1610 0,9 (2215 =D.6 1600 0.6 {2155 =0D.6
9 0500 0.9 [1105 =0.5 0450 1,2 | 1115 =0.4 0450 1,3 | 1135 =0.3
1715 0.9 {2330 =0,6 1700 0,7 [2305 ~0.5 1705 0,5 | 2255 =0.5
10 0600 1.0 |1220 =0,4 0555 1,2 | 1235 =0.3 0600 1.2 {1300 =043
1810 0.7 1805 0,46 1820 0.4
11 0705 1.1 |0025 =0,6 0710 1,3 {0005 =0.5 0715 1.3 {0005 ~044
1915 0.6 |1335 =0,4 1920 0,5 {1400 =0.3 1945 0.4 | 1420 =043
12 0810 1.2 |0120 =0.6 0820 1.4 [0115 =Ce5 0830 1,3 [ 0125 =0.5
2025 0.5 {1450 =0.5 2035 0,5 (1510 =0.3 2055 0,5 | 1520 =D4é
13 0910 1.4 |0220 =0,.7 092Q 1.5 [ 0220 =0.6 0925 1,4 {0235 =0.6
2125 0.5 |1555 =0,5 2135 0,6 [1610 =D.5 2150 0.7 | 1610 =046
14 1005 1.5 |0310 -0,8 1015 1,6 | 0320 =0.7 1015 1.5 {0335 =0.7
2215 0.5 |1650 0,6 2225 0,7 [ 1655 =D.6 2230 0.9 (1645 =047
15 1055 1.7 |0400 =«D,.8 1100 1.7 (0410 -0.8 1100 1.6 | 0425 =0,8
2305 0.6 (1735 =-0,7 2310 0.8 |1735 =0.7 2310 1.1 | 1720 =0.8
16 1135 1.8 {0450 =0.,9 1140 1.8 |0S00 =0.9 1140 1,6 | 0510 =0,9
2350 0.6 |1820 =-0.8 2350 0.9 [1815 ~0.7 2350 1.2 [1755 =0.8
17 1220 t.8 10530 «1.0 1220 1,8 | 0545 =1.0 1215 146 | 0555 =1,0
1855 =0,8 1850 ~0.8 1825 =0.9
18 0030 0,7 J0615 =-1.0 0030 1,0 |0625 =1.0 0025 1.4 | 0635 =1,0
1300 t,8 |1935 =«0,8 1300 1,8 (1920 ~0,8 1250 1.5 | 1900 =0,9
19 0%t10 0.7 (0700 =1,0 0110 1,1 |Q710 =1.0 0105 1.4 |0720 =1.0
1340 1.7 |2015 =-0,8 1335 1.7 11955 =~0.8 1325 1.3 | 1930 =0.9
20 0155 0.8 (D745 =1,0 0150 1,2 [ 0755 ~0.9 0145 1.5 | 0800 =0.9
1420 1.6 |2050 -0.8 14495 1,5 | 2030 ~-0.8 16405 1,2 |'2005 =0.8
21 0235 0.8 |0830 ~-0,9 0230 1,2 0840 =0.8 0225 1,5 | 0845 =0.8
1500 1.5 (2130 =-0,8 1455 1,3 12105 =0.7 16440 1,0 | 2040 =047
22 0325 0.9 |0920 «0.7 0315 1,2 (0930 «0.6 0310 1.4 (0940 =0.6
1545 1,3 [2210 «0,7 1535 1.1 2145 =0.6 1525 048 2120 =0.7
23 06415 0.9 |1015 =-0,6 p40S 1.2 |1025 =0.5 0600 1,4 (1040 =0.4
1630 1.1 (2255 =0.7 1620 0,9 12225 =D.b6 1615 0,6 | 2205 -0.6
26 0510 0.9 [1120 -0,5 0505 1.2 (1135 <0,3 0505 1.3 |1155 =0.3
1725 0.9 (2345 =0.6 1715 0.7 |2320 =0.5 1720 D.4 12310 =0,.5
2S 0615 1.0 1235 =0,4 0610 1,2 [1255 =043 0645 1,2 (11320 =0.3%
1825 0.7 1825 0.5 1840 D.4
26 0720 1.1 |0035 =0.6 Q725 1,3 0020 =0.5 D735 1.3 (0025 =0.4
1935 0,6 [1355 =0.4 1940 0,5 [1415 =-0.3 2005 O,4 [1435 =044
27 0825 1,2 (0135 =0,6 0835 1,4 (0130 =0.5 D840 1.4 |0145 =-0,5
2040 0.5 [1505 =0,5 2050 0,5 1525 =0.4 2105 0.6 [1530 «0.5
28 0925 1,6 |[0230 =0,.7 0935 1.5 (0235 =0.6 0940 1.5 (D250 =D.6
2135 0.5 [1610 =0,.6 2150 0,6 |1620 «0,.5 2200 0.7 1615 «0.6
29 1015 1.6 (0325 =0,8 1025 1.7 (0330 =0.7 1025 1.6 {0350 =0.7
2230 0.5 |1700 =0,7 2240 0,7 (1705 =0.6 2240 0.9 | 1655 =0.,7
30 108 1,7 |04C0 =-0,.8 1100 1,7 (0410 ~0.8 1100 1,6 {0425 ~0.8
2305 0.6 |1735 =0,7 2310 0,8 1735 =0.7 2310 1,1 [1720 =-0.8
3
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1 1120 1,2 | 0515 =1,0 1118 0,7 | 0525 =t,.2 1110 0.3 | 0535 =1,2
€335 1.4 | 1725 =1,0 2335 1,5] 1705 «~1.2 2340 1.4 1655 =1.3
F 1200 1.1 | 0555 =1,1 1155 0.6 | 0605 ~1.2 1155 0.3] 0620 =1,2
1755 =1,.0 1740 =1,2 1735 =1.4
3 0015 1,5 | 0635 =1,1 0045 1,5 0650 =1,.2 0020 1.5 0705 =1.2
1235 1,0 | 1830 =%,0 1230 0.5] 1815 =1.2 1235 0.3 1815 =1.4
s 0050 1,6 | 0720 =1.1 0055 1,6 0730 =1.1 0105 1,5 0745 =142
1310 0,9 | 1900 =~1,0 1310 0,5 )] 1850 =1.2 1315 0,3] 1855 =1.3
5 0130 1.6 | 0800 =1,0 0135 1,5 0815 -1.1 0145 1.51 0825 =-1.2
1350 0,8 | 1935 =0,9 1350 0.4 1930 =11 1400 0.2 | 1940 =1,3
) 0215 1,6 | 0850 -0.8 0220 1,5] 0905 =1.0 0225 1,3 0910 =1.1
1430 0.6 | 2015 =0,9 1435 0,34 2015 =1.0 1445 0,2] 2025 =-1.2
7 0300 1.5 | 0940 =0.7 0305 1,3 0935 =-0.9 0310 1.2 0955 =1.0
1515 0.5 | 2055 =0,8 1525 0,2 2105 =-0.9 1535 0.2 2120 =-1.0
8 0350 1.3 | 1045 -0,6 0400 1.2 1055 =0.8 0400 1.0| 1045 =1.0
1610 0,3 | 2150 =0,¢6 1625 0,2| 2205 =-0.8 1635 0,2 2220 =-0.9
9 0455 1.2 | 1155 =0,5 0500 1.0} 1155 =0.8 0455 0.8 1135 =1.0
1725 0,3} 2300 ~0,5 1740 0,2 2320 ~0.7 1740 0.3 2330 =0.8
10 0605 1.1} 1310 =0,5 0605 0,9} 1300 -0.8 0555 0,7| 1230 =1.0
1850 0,3 1855 0,3 1845 0.4
14 0720 1,1 ] 0025 «0,5 0715 0,8 | 0040 =0.7 0655 0.5| 0050 =Q.8
2005 0.4 | 1415 =0,6 2000 0,5| 1355 =0.8 1950 0,6| 1320 =1,.0
12 082% 1.2 | 0145 =0,6 0815 0,8 0200 =0.7 0800 0.4 0205 =0.8
2100 0,6 | 1505 ~0,7 2055 0,7 ] 1440 «0.9 2050 0.8] 1410 =1.0
13 0920 t.,2 ] 0255 ~0,7 0910 0.8) 0305 =0.8 0900 O0,4] 0315 =0.9
2150 0,9 ] 1550 =0,8 2145 1,0 1520 =1.0 2140 1,0} 1500 =1.1
14 1010 1,2 | 0350 -0.8 1000 0.7 0400 =1,0 0950 0.3 0410 =1.0
2230 1.1 | 1623 «0,9 222% 1,21 1600 =1.1 2225 1.2 | 1545 =1.2
15 1050 1.2 [ 0440 =1,0 1040 0,7 0450 =1.1 1040 0,3| 0500 =1.1
2310 1,3 | 1700 «0,9 2305 1,4 1635 =1.1 2310 1,4 1625 =1.3
2345 1.4 | 1730 =1,0 2345 1,5} 1710 =1.2 2350 1.5 1705 ~1,.3
1805 =1,0 . 17465 =1,2 1745 =144
18 0020 1.6 | 0645 =1,1 0028 1,6 0700 =1.2 0030 1,5| 0710 =1.2
1245 1,0} 1835 =1,0 1240 0,5| 1825 =1.2 1245 0.3 1825 =1.4
19 0100 1.6 | 0730 ~1,0 0105 1,6 | 0740 =1a1 D115 1,5} 0755 =-1.2
1320 0,9 1910 =1,0 1320 0,4 | 1900 =-1,2 1325 0.3| 1905 =1.3
20 0140 1,6 | 0810 ~0,9 0145 1,5| 0825 =-1.0 0155 1,4 | 0835 -1.2
1355 0,7 | 1945 =0,9 1400 0.4 1940 =1.1 1410 0,2 1950 «1.3
21 0220 19,5 | 0900 =0,.8 0230 1,4 0915 =0.9 0235 1.3 0920 =1.1
1440 0,6 | 2025 =0,8 1445 0,3 2025 =1.0 1455 0,2] 2035 =1.1
22 0310 1,4 [ 0955 «0,7 0315 1,3} 1010 =-0.8 0325 1.2 1005 =1.0
1525 Qa4 | 2110 «0,7 1540 0,2] 2115 =0.9 1550 0,2} 2130 -1.0
23 0405 1,3 1100 «0,.5 0610 1,1 1110 =0.8 0410 1,0 1055 =1.0
1625 0.3 | 2205 =0.6 1645 0,2 2220 =D.8 1650 0,3 2235 =0.9
24 0510 1,2 | 1215 =0,5 0515 1,0/ 1210 =0.8 0505 0.8 1145 «1.0
1740 0.3 | 2320 =0,5 1800 O0,2| 2335 ~0.7 1755 0,3| 2350 ~0.8
23 0625 1.1 | 1330 =0,5% 0620 0,9| 1310 -0.8 0605 0.6 1240 =1.0
1905 0,3 1910 0.4 1900 0.5
26 0735 1.1 | 0040 =05 0?30 0,8 0100 =0.7 0790 0.5| 0105 =-0.8
2020 0.5 | 1430 =0,6 2015 0,6 1405 =0,.9 2005 0,7} 1335 =1.0
7 0840 1,2 | 0200 =0,6 0830 0,8 0275 =0.7 0815 0.,4| 0220 =0.8
2115 0,7 [ 1515 ~0,7 2105 0.8 1450 =0.9 2100 0,9 1420 =-1.1
28 093% 1.2 | 0305 ~0,7 0920 0,83]| 0315 =0.9 0990 0,3} 0325 =0.9
2200 0,9 ] 1555 =~0,8 2158 1,0} 1530 ~-1.0 2150 1.1] 1510 =1.1
29 1020 1.2 | 0400 =0,9 1010 0,7] 0410 =1.0 1000 0.,3| 0425 -1.0
2240 1,1 1635 =0,9 2235 1,2} 1610 -1.1 2235 1.3| 1550 =1.2
30 1050 1.2 | 0440 =1.0 1040 0,7 ] 0450 -1.1 1040 0.3} 0500 =1.1
2310 1,3 1700 -0,% 2305 1,4 1635 =1.1 2310 1.4 1625 «1,.3
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1 0900 1,3 | 0310 «2.4 6905 1.5 | 0310 =2.5 0905 2,0 0300 =2.6
2120 2.8 | 1450 =2,5 2125 2.7 | 1500 =2.6 2120 2.5 1505 =245
2 0940 1.4 | 0350 =2.5 0945 1,7 | 0350 =2.6 0940 2.2 0335 =2.6
2205 2.8 | 1535 =2,6 2205 2,7 | 1545 =2.6 2200 2.4 | 1550 =2.6
3 1025 1.4 | 0430 =2,6 1025 1,8 | D&25S 2.7 1020 2.3 | 0410 =2.7
2245 2.8 | 1620 ~2.6 2245 2,6 | 1625 =2.6 2240 2,3 | 1630 =2.6
4 1110 1.5 | 0510 =2.6 1105 1.9 | 0505 =2.7 1100 2.3 | 0450 =246
2325 2.6 | 1708 =2.5 2325 2,4 1705 =2.6 2320 2.1 1710 =2.5
5 1150 1,5 | 0555 =-2.5 1145 1.9 ) 0540 =2,6 1140 2,3 | 0525 =2.5
1745 =2,3 1750 =2.4 1755 =2.3
6 0010 2.4 | 0635 =2,.4 0005 2,27 0620 =2.5 0000 1.8 | 0605 =243
1240 1.4 | 1835 =2.1 1230 1.8 1840 =2.2 1225 242 | 1845 =-2.1
7 0055 2.1 | 0720 -2,3 0050 1.9 | 0705 =2.3 0045 1,5 0650 =241
1330 1.4 | 1925 =1,9 1320 1.8 1930 =1.9 1315 2,0 | 1935 =1.9
8 0140 1,8 | 0805 ~2,2 0135 1.5 | 0750 -2.1 0135 1.2 | 0740 =-1.9
16425 1.6 | 2025 =1.7 1415 1,7 | 2030 =1.7 1410 1,9 2040 =1.7
9 0235 1,5 | 0900 =2.1 0230 1,2 | 0845 =1.9 0235 0,9 0835 ~1,7
1525 1.5 ] 2130 =1,6 1515 1,6 | 2135 =1.6 1515 1.8] 2150 =146
10 0335 1.3 0955 =»2.0 0335 0,9 0945 =1.8 0345 Q.8 0945 =1.6
1625 1.6 | 2240 =1,6 1620 1,6 | 2250 =146 1625 1.7 | 2300 -1.6
1 0440 1,1 | 1050 -2,.0 0445 0,8 | 1050 =-1,.8 0500 0.8 1055 =1,6
1725 1.8 | 2350 =1,7 1730 1.8 1730 1,9
12 0540 1,0.f 1150 =2, 0SS0 0,9 | 0000 =1.7 0605 1.0| 0005 =1.8
1825 2,0 1830 2,0 | 1150 -1.9 1830 2.0| 1200 =1,8
13 0640 1.1 | 0050 =1,8 0650 1,0 0100 =1.9 0700 1,2 0100 =2.0
1915 2,3 | 1240 =2.2 1920 2,2 | 1250 =2.1 1920 2.2| 1255 =2.0
14 0735 1.1 0145 =2,0 0745 1,2 | 0150 =2.1 0750 1.5| 0145 =2.2
2005 2.5 | 1330 =-2,3 2010 2.5 | 1340 =2.3 2005 2.4 1345 =2,2
15 0825 1,2 | 0235 =2,2 0830 1.4 | 0235 =2.3 0830 1.8 0230 «2.4
2050 2.7 | 1420 =2,5 2050 2.6| 1425 =2.5 2050 2.5 | 1430 =2.4
16 0910 1,3 | 0315 =2.4 0915 1,6 0315 =2.5 0910 2.0] 0305 =2.6
2130 2,81 1500 =2.,5 2135 2.7 ] 1510 =2.6 2130 2.5 1515 =2.6
17 0950 1,4 | 0400 =2,5 0955 1.7 0355 =2.6 0950 2.2 | 0345 =2.7
2215 248 | 1545 «=2,6 2215 2.7 | 1550 ~2.7 2210 2,41 1555 =2.6
2255 2.7 | 1625 =2,5 2250 2,6 1635 =2.6 2245 2.3 | 1640 =246
19 1115 1,5 | 0520 =2,6 1115 1,9 0510 =2.7 1110 2,3 | 0455 =246
2335 2.6 | 1710 =2.4 2330 2.4 | 1715 =2,5 2325 2,0 1720 =245
20 1200 1.5 | 0605 =2.5 1155 1,9 | 0550 =2.¢6 1150 2,3 0535 =25
1755 ‘2-3 1800 '2.'0 1805 '2'3
21 0020 2.4 | D645 =2,.4 0015 2,1 | 0630 =2.4 0010 1,7 | 0615 =2.3
1250 1,4 | 1845 =2,1 1240 1,8 1850 =2.1 1235 2.2 | 1855 =2.1
22 0105 2.1 | 0730 -2,3 0100 1.8 | 0715 =2,.3 0055 1.4 | 0700 =2.0
1340 1.4 1940 =-1,9 1330 1,7 | 1940 =-1.9 1325 2,0| 1950 -1.8
23 0155 1.8 | 0820 =2.2 0145 1.4 | 0800 =2.1 0150 1.%| 0750 =1,8
1435 1,4 2040 =1,7 1425 1,6 2045 =1.7 1425 1,8 2055 ~1.6
264 0250 1.5] 0910 =2.1 0245 1.1 0855 =-1.9 0250 Q0.9 | 0850 =1,7
1535 1.5 | 2150 =1,6 1530 1,61 2155 =146 1530 1.7 2203 =1,6
25 0350 1.2 | 1010 =2,0 0350 0.,9| 1000 -1.8 06405 0,8 1000 =1,6
1640 1,6 | 2300 ~1,6 1635 1,7 | 2305 =1.6 1640 1,8 2315 =1.6
26 0455 1,1 | 1105 =2,0 0500 0,8} 1105 =-1,8 0515 0.8| 1110 =1,7
1740 1.8 1740 1.8 1745 1,9
27 0555 1,0 0005 =-1,7 0605 0,9 | 0015 =1,7 0620 1,0| 0020 ~1.8
1835 2.1 | 1200 =2.1 1840 2.0 1205 =-2.0 1840 2.1 1215 =1.8
28 0655 1,1 | 0105 «1,9 0705 1,0| 0110 ~1.9 0710 1.3] 0110 =2.1
1930 2.3 1255 =2.2 1935 2,3 1300 =2.1 1930 2,3 1310 =2.1
29 0745 1.2 | 0155 <=2,1 0755 1,2 0200 =2.2 0800 1,6] D155 =2,3
2015 2.5 | 1340 =2.4 2020 2.5| 1350 -2.3 2015 2.4 1355 =2.3
30 0825 1.2 | 0235 =2.2 0830 1,4 0235 =-2.3 0830 1.8 0230 =2.4
2050 2.7 1420 =245 2050 246 | 1425 =2.5 2050 2.5 1430 =2.4
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1 0855 2.4 | 0245 =2.5 085S 2,7} 0230 =2.4 08SS 2.9 0225 =2.7¢
2115 2.2 | 1510 =2.5 2110 1,8 1515 =2.3 2115 1,7 1520 =2.1
2 0935 2.6 | 0320 =2,6 0935 2.9, 0310 =2.4 0935 3,0 0310 =2,2
2155 2.1 | 1550 =2,5 2155 1,7 1600 =2.3 2200 1.6 1605 =2.2
3 10915 2,7 | 0400 =2.5 1015 2.9 | 0350 «2.3 1020 3.0 0350 =2.2
2235 1,91 1635 =-2,5 2235 1,61 1640 =2.3 2240 1,6 1650 =2.2
& 1055 2.6 | 0435 =2.4 1100 2.8 0430 =2.2 1105 3.0 0435 =2.1
2315 1.7 | 1720 <2.4 2320 1.5 1725 =2.2 2330 1.5| 1735 =2.1
5 1140 2.5 | 0515 =~-2.3 1145 2.7 | 0515 =2.1 1150 2.8 052U =2.0
1805 =2,2 1815 =2.1 1820 =2.1
6 0000 1,5 | 0600 =2,1 010 1,3 | 0600 =1.9 001S 1,5 0605 =1.8
1225 2,4 | 1855 =2,0 1230 2,5| 1905 =2.0 1235 2,.,7) 1910 «2.0
7 0050 1.2 ) 0645 =-1,9 0100 1.,2| 0650 =1.7 0110 1.4 0700 =1,7
1315 2.2 | 1950 -1,8 1320 2,3 | 2000 -1.8 1325 2.4 2000 =-1.9
8 0145 1,0 | 0740 =1,7 0200 1.1 0750 =1.5 0205 1.4 0755 =1.5
1415 2.0 | 2055 =1,7 1420 2.2 2100 -1.8 1415 2,2] 2050 ~1.8
9 0250 0,9 | 0845 =1,5 0305 1,1 0855 =1.4 0305 1.5{ 0900 =-1.4
1520 1.9 | 2200 =1,7 1520 2,0| 2200 -1.8 1515 2,0 2145 =1.8
10 Q405 0.9 | 0955 =1,5 04t0 1,2] 1000 =-1.4 0405 1,6 1005 =1.3
1625 1.9 | 2305 =-1,8 1620 1,9 2255 =1.9 1615 1.8 2240 =1.8
1 0510 1.1 1105 =1,5 0510 1,5 1710 =1.5 0500 1.8 1110 =144
1730 1.9 1720 1.9 2345 =2.0 1710 1,7 2330 =-1.9
12 0610 1.3 | 0000 =1,9 0605 1.8 1210 =1.6 0555 2.1 1210 =1,5
1825 2.0 1205 =1,7 1815 1,9 1810 1.7
13 0700 1.6 0050 =2.1 0655 2,1| 0035 =2.1 0650 2.4| 0020 -2.0
1915 2,1 1300 =2,0 1905 1.9 1305 =1.9 1900 1.6| 1305 =1.7
14 0745 2,0| 0135 =2,3 0740 2,4 0115 =2.2 0735 2.6 D105 =2.1
2000 2.2 1350 =2,2 1955 1,9 1355 =2.0 1950 1.7] 1400 =1.9
15 0825 2.2 | 0215 =2,5 0820 2.6| 0200 =2.3 0820 2.8{ 0150 =2.1
2040 2.2) 1435 =2.4 2035 1.9 1440 =2.2 2040 1.7 1445 =2.0
16 0905 2.5 | 0250 =2.5 0900 2.8| 0240 =2,64 0905 2,9| 0235 =2.2
2125 2.1 1520 =2,5 2120 1,8 1525 =2.3 2125 1,6| 1530 =2.1
17 0945 2.6 0330 =2,6 0945 2,9 0320 =2.4 0945 3,0 0315 =2.2
2205 2,0 1600 =2.5 2205 1,?7| 1610 =2.3 2210 1,6 1615 =2.2
18 1025 2.7 0405 =2,5 1025 2.9| 0400 =2.3 1030 3.0| 0400 =2.2
2245 1.9 | 1645 =2.5 2245 1.6 1650 =2.3 2250 1.,6| 1700 =2.2
19 1105 2.6 0445 =2,4 1110 2,8| 0640 =2.2 1115 2.9] 0445 =2.1
2325 1,6 1730 =2,3 2330 1.4| 1735 =2.2 2340 1,5| 1745 =241
20 1150 2.5| 0525 =2,3 1155 2.7 0525 =2.1 1200 2.8| 0530 =2.0
1815 -202 1825 ‘211 1830 "2-0
21 D010 1.4] 0610 =2,.1 0020 1,3 0610 =1.9 0030 1,5 0620 =-1.8
1235 2.3 1905 =2,0 1240 2,.5] 1915 =1.9% 1245 2,6| 1920 =2.0
22 0100 1,2 0655 =-1,8 0115 1,2| 0705 =1.7 0120 1.,4; 0710 =146
1330 2,1} 2005 -~1,8 1338 2,31 2015 =1.8 1335 2.4 2010 =1.9
23 0200 141.,0| 0755 =-1,6 0215 1,1 0800 =1,5 0215 1.4 0810 =1.4
1430 2.0 2110 =1.7 1430 2,1 2110 =1.8 1430 2.1 2100 =1.8
24 0310 0,9) 0900 =1,5 0320 1.1| 0910 =1.4 0315 1,5 0915 =1.3
1535 1.9 2215 =-1,7 1538 2,0| 2210 =1.8 1525 1,9 2155 =1.8
25 0420 0,9 1010 =1,5 0425 1,3, 1015 =1.4 0615 1,7 1020 -1.3
1640 1,9{ 2320 -1,8 1635 1,9 2305 =1.9 1625 1.8 2250 =1.8
26 0525 1,.,1] 1120 =1,.6 0525 1.5 1125 =1.5 0515 1.9 1125 =1.4
1740 1,9 1735 1.9 2355 =2.0 1725 1,7 2340 =1,9
27 0620 1.4 0015 =2.0 0615 1,8| 1220 =1,7 0610 2,1 1225 =1.6
1835 2.0} 1220 =1,8 1825 1.9 1820 1.6
28 0710 1.7 0100 =2,2 0705 2.1 0045 =2.2 0700 2.4 0030 =2.0
1925 2,19 1315 =2.,0 1915 1.9 1315 =1.9 1915 1.6 1320 =-1.8
29 0755 2.0| 0145 =2.4 0750 2.4| 0125 =2.3 Q745 2,7 0115 =2.1
2010 2,.2| 1400 -2,2 2005 1.,9] 1405 =241 2000 1.7| 1410 =1.9
30 0825 2.2| 0215 =2.5 0820 2,68 0200 =2.3 0820 2.8] 0150 =2.1
2040 2,2| 1435 -2,4 2035 1.9| 1440 =2.2 2040 1,7| 1445 =2.0
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B 43 * | K4 * 43 X | Wy * Bt & * Bt 4 *
1 0900 3.0 | 0230 =2.1 0900 3.1 | 0235 =2.0 U900 2.9 | 0240 =2.1
2120 1,7 | 1530 =2.0 2120 2.1 | 1525 =2.1 2120 2.5 1515 =2.2
2 0940 3.1 0315 =2.1 0940 3.2 N320 =241 0939 2.9 L3255 =242
2205 1.8 | 1610 =2,1 2205 2.2 | 1605 =241 2200 2.6| 1550 -2.3
3 1025 3,1 | 0355 =2,1 1020 3.1 0400 =21 1015 2.8 | 04GS =242
2245 1.8 11650 =2,1 2245 2.3 | 1645 =2.2 22640 2.7 1630 -2.2
“ 1105 3.0 | 0640 =241 1100 3.0 | 0445 =241 1055 2.6 D650 =2.1
2330 1.8 | 1735 «2.1 2325 2.3 | 1720 =2.1 2320 2.7] 1705 =2.1
5 1150 2.9 | 0525 =2.0 1145 2.7 | 0530 =2.0 1135 2,3 | 6530 =2.0
1815 =241 1800 =-2.0 1745 =2,0
6 0015 1.8 | 0610 =1.8 0010 2.3 | 0615 =1.8 QUOD 2.6 | 0620 =1.8
1235 2.6 | 1900 =2.0 1225 2.4 | 1845 =1.9 1220 2.0 1825 =1.8
? 0105 1.8 | 0705 -1.6 N0s5s 2.2 | 0705 =1.6 0050 2.4] 07210 =1.5
1320 2.4 1945 =1,9 131§ 2.1 1930 =1.7 1310 17 1915 =1.6
8 0200 1.8 Q800 =1,4 0150 2a2 0800 =1.3 0145 2.3 0810 =1.3
1610 2.1 ] 2035 -1.8 1405 1,8 | 2020 =1.5 1610 1.6 2010 =1.4
9 0255 1.9 | 0900 =1,3 0245 2.1 | 0905 =1.2 0245 2.2 092U =1.2
1505 1.8 | 2130 =1,7 15056 1,5 | 2115 =144 |~ 1515 1.2 2115 -1.2
10 0355 1.9 { 1010 =-1,2 0350 2.1} 1015 =1,1 0358 2.1 1030 =-1.2
1610 1.6 | 2225 =1.6 1610 1.6 | 2220 =144 1625 1,2 2225 =1.2
11 0455 2.1 | 1115 =1.3 0655 2.2 | 1125 =1.2 0500 2.2 1140 =1.3
1790 1.5 | 2320 =1.7 1720 1.3 | 2320 =1.4 1735 1,3 2330 -1.4
12 0555 2.3 ] 1220 =1.4 0600 2.4 | 1230 -1.3 0600 2.4| 1235 =1.5
1810 1.5 1820 1.4 1835 1.5
13 0650 2.5 | 0015 =1.8 0655 2,6 | 0020 =1.6 0655 2.6 0030 =1.6
1905 1.5 1315 =1,6 19158 1.6 1325 ~1.6 1925 1.8 1325 =1.8
14 0740 2.7 | 0105 =1.9 0745 2.9 | 0110 =1.7 0745 2.8 0120 =1.8
1955 1,6 | 1405 =1.8 2005 1.8 1610 =1.8 2010 2.1 1405 =2.0
15 0825 2.9 | 0155 =2.0 0830 3,0 0200 =1.9 0825 2.9 0205 =2.0
2045 1.7 | 1455 =1,9 2050 1.9 | 1455 =1.9 2050 2.3 1445 =2.1
16 0910 3.1 [ 0240 =2,.1 0910 3.1 | 0245 =240 0905 2.9 | 0250 =2.1
2130 1.7 | 1535 =2,0 2130 2.1 | 1535 =2.1 2130 2.5 1525 =2.2
17 0950 3.1 | 0320 =2.1 0950 3.2 | 0330 =241 0945 2.9 ] 0335 =2,2
2215 1.8 | 1620 =2.1 2215 2.2 | 1615 =2.2 2210 2.6 | 1600 =2.3
18 1035 3.1 | 0405 =2.1 1030 3.1 0410 =2.1 1025 2.7 | 0415 =2.2
2255 1.8 | 1700 =2.1 2255 2.3 | 1650 =2.2 2245 2.7 1635 =2.2
19 1115 3.0 | 0450 =2.1 1110 2.9 | 0455 =241 1105 2.5| 0455 =241
2340 1.8 | 1745 =2.1 2335 2,3 | 1730 =2.1 2330 2.6 1715 =2.1
20 1200 2.8 | 0535 =1,9 1185 2.7 | 0540 =1.9 1145 2,2 0540 =1,9
1825 =241 1810 =2.0 1755 =1.9
21 0025 1.8 | 0625 =1.8 0020 2.3 | 0625 =1.7 0015 2,5| 0630 =1.7
1245 2.6 | 1910 =2.0 1235 2.4 | 1855 =1.8 1230 1.9 | 1835 =1.7
22 0115 1.8 | 0715 «1,6 0110 2.2 0715 =1,5 0100 2,41 0725 =1.5
1330 2.3 | 1955 =1.8 1325 2.0 1940 =1.7 1325 1.6| 1925 =1.5
23 0210 1.8 | 0810 =1,4 0200 2,2 | 0815 =1,3 0155 2.2 0825 =1.3
1425 2.0 | 2045 =1,7 1420 1.7 | 2030 =1.5 1420 1.4 2025 =1.3
24 0310 1.9 | 0915 =1,3 0300 2.1| 0920 «1.1 0300 2.1/ 0935 -1.2
1520 1.7 | 2140 =1,7 1520 1.5 | 2130 =146 1530 1.2 | 2130 =1,2
25 06410 2.0 ] 1025 =1.2 0405 2.1 | 1035 =141 06410 2.1 1045 =1.2
1620 1.6 ] 2235 =1.6 1625 1.4 | 2230 =1.4 1645 1.2| 2240 =1.3
26 0510 2.1 1130 =1,3 0S10 2,3 1140 =142 0515 2.3 1150 =1.4
1725 1.5 | 2330 =1,7 1735 1.4 ] 2335 =1.5 1750 1.4| 2345 =1.4
27 0608 2.3 1230 =1,4 0810 2,5 | 1240 =14 0615 2.5| 1245 «1.6
| 1825 1.5 1835 1,5 1845 1.6 ,
28 070D 2.6 | 0025 =1.8 0705 2.7 | 0030 =1.6 0705 2.6| 0040 =1.6
1 1920 1.5 1325 -1.6 | 1930 1.6 1335 -1.6 1935 1.9] 1335 =1.8
29 0750 2.8.] 0115 =1.9 0755 2.9 | 0125 «=1.8 0755 2.8| 0130 =1.8
2010 1.6 | 1415 1,8 2015 1,8 1420 =1.8 2015 2.1] 1415 =2.0
30 0825 2.9 | 0155 =2.0 0830 3,0 0200 =1.9 0825 2.9| 0205 =2.
2045 1.7 | 1455 =1,9 2050 1.9] 1455 =1.9 2050 2.3 1445 =241
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K& K (M2 X Mk [Ma kK | MH» K| HE X
1 0850 2.4 | 0245 2,2 D850 1.8 | 0250 =2.3 0850 1,4 | 0300 «2.4
2115 2.7 |- 1500 =2,4 2110 2,8 | 1450 =2.5 2115 2.8 1445 =2,5
F 4 0930 2.4 | 0330 =2.,3 0930 1.8 | 0335 «2,4 0935 1,41 0345 =2.4
2155 2,8 | 1535 =2.4 2150 2.9 1525 =2.4 2200 2.8 1530 =2.5
3 1010 2.2 | 0410 =2.3 1090 1,6 | D415 «2.4 1020 1.4 ]| 0425 =2.5
2¢3% 2.9 | 1615 =2,3 223% 2,8 | 1605 2,4 2240 2.8 1610 =2,5
& 1055 2.0 | 0455 =2,2 1055 1,5 | 0500 =2.3 1105 1.3 0510 =2.4
231% 2.8 | 1450 =2,1 2315 2.7 | 1650 =2,2 2325 2.,7)| 1655 =2.3
- 1913 1,8 | 0540 =2,% 1140 1.3 | 0550 =2.2 1150 1,2 0555 =2,4
1735 «2.0 1735 =2,0 1740 =2.2
é 0000 2.6 | 0625 ~1,9 0005 2.6 0635 =2,1 0010 2.5] 0640 =2,3
12285 1.5 | 1820 =1,7 123¢ 1,2 | 1820 =1,8 12640 1.1 1830 «2,0
7 00SC 2.4 | 0720 =1,6 0055 2.3 | 0730 =1,.% 0055 2,3 0730 =22
1320 1.3 1910 «1,8 1330 1.0 1915 =1,6 1335 1.1 1925 =1.8
8 0148 2,2 | 0825 =-1.5 0150 2,1 ) 0830 -1,8 0150 2.0 0825 =2.1
16420 1,1 | 2015 =1,3 1435 1,0 2020 =1,5 143% 1.4 2025 =1.6
9 02%0 2.1 | 0930 =1,4 0250 2.,0| 0930 =1,8 0245 1,8 0920 =2.1
) 1530 1.1 | 2125 =1,2 1540 1.1] 2130 =1.4 1535 1,2 2130 =1,5
10 03%S 2.1} 1035 1,5 035s 1.9] 1030 «1.9 0345 1.6 2240 =1,8
1640 1,2 | 2235 -1,3 1645 1,31 2240 =1.5 1635 1.4
11 0500 2.1 ] 1135 «1,7 0455 1,8 1125 =2,0 0645 1.4 1105 =2.1
1745 1.4 | 2340 -t1,5 1740 1,6 2345 =1,6 1735 1.7 2345 =1.7
12 0600 2,2 | 1230 =1,9 0550 1.8 1210 =2.2 0545 1.,4] 1155 =2,2
183% 1.7 1830 1,9 1825 2.0
13 04650 2.3 | 0035 «1,7 0645 1,9 | 0040 =1,.8 0660 1,4 0045 =1.%
1920 2.1 ] 1310 =2,1 1915 2.2 1255 =2.3 1915 2.3 1245 =2.3
14 0735 2.4 | 0125 =-1,9 0730 1.9 0130 =2,1 0730 1.4 0135 =2.1
2005 2.4 | 1355 =2.2 2000 2,5 1340 =2,4 2000 2.S5] 1330 =2.4
15 0820 2.5 | 0210 =2,19 0815 1,9 | 0215 =2.2 0815 1.4] 0225 =2.3
2045 2.6 1430 =2,3 2040 2,7 1420 =2.5 2045 2,7 1415 =2.5%
16 0900 2.4 | 0255 =2,3 0900 1,8 0300 =2.4 0900 1.4 0310. =2,4
21285 2,8 | 1510 «2,4 2120 2,8 | 1455 =2,5 2125 2.8 16455 =2.5
17 0940 2,3 | 0335 2,3 0940 1.7 0345 =2.4 0945 4,4 0355 «2.5
2200 2.9 | 1548 «2.4 2200 2.9 1535 2.4 2205 2,B| 1535 =2.5
18 1020 2.2 | 0420 =2,3 1020 1,6 0425 =2.4 1030 1,3 | 0435 «2,5
d 2240 2,8 | 1620 =2,3 224% 2,.8] 1615 «2,3 2250 2.B| 1620 =2,.4
19 1100 2,0 0505 =2,2 $10% 1.5] 0510 =2.3 1118 1,3 0520 =2.4
2325 2.8'1 1700 -2, 2325 2,7] 1700 =2.,2 2335 2.6| 1705 =2.3
20 1145 1,7 | 0550 2,0 1155 1.3)] 0600 ~2,2 1200 1.2| 0605 «2.4
1745 =1,9 1745 =2,0 1750 =2.1
21 0010 2,6 | 0640 ~1,8 0015 2,5 0650 =2.0 0020 2,S| 0655 =2,.3
1233 1,4 1830 =1,7 1245 1,1 1835 =1,8 1250 1.1 1840 =1,9
22 0100 2.4 ] 0735 =1,6 01085 2,3 0745 =1,9 0105 2,2 0745 =2.2
1330 1.2 | 1925 «1,5 1345 1,0 1930 «1,6 1348 1,1 1935 «1.7
23 0200 2,2 0840 «1,.5 0200 2,1 0845 =1,.8 0200 2.0| 0835 =2.1
- 1435 1,1 | 2030 »1,3 1450 1,0 2035 «1.4 1445 1,2] 2040 =1,6
24 0308 2.1 | 0945 «1,4 0305 1,9 | 0945 =1,8 0255 1,7| 0930 2.1
1550 1,1 ] 2140 =1,2 1585 1,11 2145 =1,4 1550 1,3] 2150 =1.5
25 0410 2,1 | 1050 «1,8 0405 1.8 1040 =1,9 0355 1.,5] 1025 =2,%
1655 1,2 2250 =-1,3 1700 1,3 2255 -1.5% 1630 1,5 2255 =1.6
26 0518 2.1 1150 =»1,?7 0510 1,8] 1135 «2.0 0500 1,4 1120 =2,.1
1785 1,5| 2358 =1,% 1755 1,7 2355 =1,7 1745 1,8
27 | oe1n 2.3] 1240 1,9 | 0605 1.8 1225 -2.2 | 0555 1.4| 0000 -1.7
1845 1.8 1840 2,0 1835 2.,0] 1210 =2,2
28 0700 2,4 ] 0050 ~1,7 0635 1,9| 0050 =1,% 0650 1.4 0085 =1,.9
1930 2.1 1320 «2,19 1925 2,3 1305 2,3 1925 2.,3| 1255 =2,.3
29 ‘0745 2,4 | 0935 =2,0 0740 1,9] 0140 =2.1 0740 1.6] 0145 «2,.9
2018 2.4 ] 1400 =2,3 2010 2,6 1345 =2.4 2010 2.5| 1340 =2.4
30 0820 2,5} 0210 =2,1 0815 1.9 0215 =2,2 0815 1.4 0225 =2.3
2045 2,6 1430 «2,3 2040 227 1420 «2,.5 2045 2,7 1415 <«2.5
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